Chemistry P Final, new standards: You MUST complete this part!!!

IX G.* relate the position of an element in the periodic table to its quantum electron configuration and to its reactivity with other elements in the table.

Electron Configurations:

Draw the orbital diagrams (using lines instead of boxes is fine) for:

(orbital diagrams have the labeled lines and arrows)

Ca

Sn

Write the electron configuration (1s2 2s2 etc…) for:

K

Cd

Trends of the Periodic Table:

IX C. use the periodic table to identify: 

4. trends in ionization energy 

5. electronegativity 

6. the relative sizes of ions 

7. the relative sizes of atoms.
Circle the atom that has the HIGHER ionization energy:

	Choice 1
	Choice 2
	
	Choice 1
	Choice 2

	K
	Ca
	
	Al
	Ga

	F
	Cl
	
	Xe
	I

	Ca
	Rb
	
	Sn
	C


Circle the LARGER atom or the LARGER ion:

	Choice 1
	Choice 2
	
	Choice 1
	Choice 2

	Na
	Na+1
	
	Cl
	Cl-1

	Rb
	Na
	
	I
	S

	S
	Mg
	
	Sr
	Mg

	Na+1
	Cl-1
	
	F
	O


IX K. per THS: students can calculate the average atomic mass for an element (isotope)

Calculate the average atomic mass for the following element.  Show all calculations:

5% is 134 Cs

75 % is 133 Cs

20% is 132 Cs

Dimensional analysis!

IV A. Create two conversion factors for the following equation:


2.3 apples = 856.12 wheels

IVB. perform single step dimensional analysis problems

IVC. perform multiple step dimensional analysis problems

IV D. solve dimensional analysis problems from simple given information

IV B, C, D.  Using the following equations, perform the calculations/conversions. Write your answer with the proper number of significant figures. 

132.9 crazies = 91.22 zebras

6.91 lights = 30.97 panthers

61.94 panthers = 66.45 crazies



1)  Given  664.5 crazies = ???? zebras

2)  given 364.88 zebras = ????? panthers

3  given 76.01 lights = ???? zebras

IV F. solve dimensional analysis problems for the following conversions: metrics
	1 000 000 m = 1 Mm

1000 m = 1 km

100 m = 1 hm

10 m = 1 dkm or dam

1 m = 1 m 

0.1 m = 1 dm

0.01 m = 1 cm

0.001 m = 1 mm

10 -6 m = 1 um

1 m = 10-6 Mm

1 m = 0.001 km

1 m = 0.01 hm

1 m = 0.1 dkm or dam

1 m = 1 m

1 m = 10 dm

1 m = 100 cm

1 m = 1000 mm

1 m = 106 um


	1 000 000 g = 1 Mg

1000 g = 1 kg

100 g = 1 hg

10 g = 1 dkg or dag

1 g = 1 g

0.1 g = 1 dg

0.01 g = 1 cg

0.001 g = 1 mg

10 -6 g = 1 ug

1 g = 10-6 Mg

1 g = 0.001 kg

1 g = 0.01 hg

1 g = 0.1 dkg or dag

1 g = 1 g

1 g = 10 dg

1 g = 100 cg

1 g = 1000 mg

1 g = 106 ug


	1 000 000 L = 1 ML

1000 L = 1 kL

100 L = 1 hL

10 L = 1 dkL or daL

1 L = 1 L 

0.1 L = 1 dL

0.01 L = 1 cL

0.001 L = 1 mL

10 -6 L = 1 uL

1 L = 10-6 ML

1 L = 0.001 kL

1 L = 0.01 hL

1 L = 0.1 dkL or daL

1 L = 1 L

1 L = 10 dL

1 L = 100 cL

1 L = 1000 mL

1 L = 106 uL




Perform the following metric conversions using dimensional analysis:


458 mm = ???? m


23500 g =  ????  kg


987 cL
= ??? dL


23 km
=??? Mm

Std IX H 1: Explain what JJ Thompson figured out.  You may draw and label a picture if that helps explain your answer.

